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PART—I: COMPULSORY / WTI_I : 3lIcii4 

GENERAL STUDIES / (-$I1rq % 

1. Which of the following diseases cannot 
be cured by antibiotics? 

(a) Tuberculosis 

(b) Tetanus 

(c) Measles 

(d) Cholera 

2. Which of the following pairs is not 
correctly matched? 

(a)  Computer : Charles Babbage 

(b)  Radio : Karl Benz 

(c)  Barometer : E. Torricelli 

(d)  Dynamo : Michael Faraday 

3. The communication satellites are 
invariably 

(a) revolving at their own speed 

(b) stationary 

(c) geostationaiy 

(d) changing their track and speed 

4. For which substance among the 
following, conductivity increases with 
temperature? 

(a) Copper 

(b) Germanium 

(c) Silver 

(d) Iron 

5. The area of a regular hexagon of side 
2J cm is 

(a) 12J cm2  

(b) 18J cm2  

(c) 18 cm2  

(d) 1&J cm2  

3. 9R  

(a)  

(b)  

(c)  

(d) 3RT 

4. Ii1iRd tji4 ic ciif ii'1 

(a) Tt11 

(b)  

(c)  

(d) ftT 

5. 2J cm 

(a) 12-Jcm2  

(b) 18-J cm2  

(C) 18cm2  

(d) 18'Jcm2  
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(a) 

8 

6. If 2x + =3, then the value of 

31 
x +--+2is 

x')  

6. -Tf2x+.-=3, x3 ~_+211l1T 
x 

(a)  

(b)  

3 

8 

19 

8 

(b)  

(c)  

(d)  

7. If one of the roots of the quadratic 

equation 2x2  + px + 4=0 is 2, then the 

other root is 

8. In which State was the militaty exercise 
'Vijay Prahar' held in May 2018? 

(a) Maharashtra 

(b) Gujarat 

(c) Rajasthan 

(d) Madhya Pradesh 

9. Who has won the Women Singles Title of 
Badminton in Commonwealth Games, 
2018? 

(a) Saina Nehwal 

(b) P. V. Sindhu 

(c) K. Gilmour 

(d) Michelle Li 

10. In the World Press Freedom Index, 
2018, India is placed at 

(a) 135th 

(b) 136th 

(c) 138th 

(d) 137th  

(c)  

(d)  

7. Tf 1id flqu 2x 2 +px+4=0 T 1 

2 , ?1 1ct)I cj ¶ 

(a) -2 

(b) -1 

(c) +1 

(d) +2 

8. w 2018 I*{ T1 ' * 3111 '1*4 

ii '  ii-  n? 

(a) Rl 

(b) tIcf 

(d) 2T 1 

9. I1cf f, 2018 .s1kW T HI1I Lc4,çf 

Rii4 ii %? 

(a) iiif 1viici 

(b) fioof 

(c) o 14( 

(d) fiiii 

10. i d*11 4iici,  2018 { 1 

ii t 

(a) 135f 

(b) 136T 

(c) 138t 

(d) 137 

19 

8 

21 

8 

7 
8 

21 

8 

7 

8 
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11. In which of the following texts, it is 
stated that those who could not speak 
Sanskrit language correctly were called 
'Mlecchas? 

(a) Shveto.shvatara Upanishad 

(b) Gopatha Brahm.ana 

(c) Brihadaranyaka Upanishad 

(d) Shatapatha Brahmana 

ii.Ir r 

'(f ni R1 i iI 9 '' 

1 'iici1 2n? 

12. Match List-I with List-Il and select the 
correct answer using the codes given 
below the Lists 

List-I 
(King) 

A. Chandragupta I 

B. Samudragupta 

C. Chandragupta II 

D. Kumaragupta I 

List-H 

(Spouse) 

1. Dutta Devi 

2. Kuberanaga 

3. Kumara Dcvi 

4. Ananta Devi  

12. 11-I -ii • 
ILT MT 

'ft-I 

() 
A.  

B.  

C. 4l( 1.ctW 
D.  

1: 

'ft-II 

(ft) 

2.  

3.  

4. ik4t 

Codes: 

(a) A 
2 

(b) A 
3 

(c) A 
3 

(d) A 
4 

B C D 
3 4 1 

B C D 
2 4 1 

B C D 
1 2 4 

B C D 
3 1 2 

(a) A B C D 
2 3 4 1 

(b) A B C D 
3 2 4 1 

(c) A B C D 
3 1 2 4 

(d) A B C D 
4 3 1 2 
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13. With reference to the book Arthashasira, 
which of the following statements is/are 
correct? 

1. It is the oldest masterpiece on 
Indian State Policy. 

2. There is no description of Mauryan 
empire and administration in this 
book. 

Select the correct answer using the 
codes given below. 

Codes 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

14. Who among the following addressed 
Delhi as one of the greatest cities in the 
world? 

(a) Ibn Batuta 

(b) Alberuni 

(c) Farishta 

(d) Abul Fazl 

15. Who is known as the Father of India's 
Local Self-Government? 

(a) Lord Lytton 

(b) Lord Ripon 

(c) Lord Curzon 

(d) Lord Dalhousie 

16. At least how many days are required 
to give the prior notice for the 
impeachment of the President of India? 

(a) 7 days 

(b) 14 days 

(c) 21 days 

(d) 30 days  

13. 3?21fl 

1. %TT?frT uiiii 

iiic14 k'cH1t 

2. M iIiI'T'i 21 iii.ci l 

TTTLUT 1(3R 1i 

14. i1 i51 i   .i . 

15 iiqr? 

(a) cK11f 

(b) 3ik".fl 

(c) 41k1I 

(d) 3TI 'tM 

15. R1 { 21FflT *If iiw{ T *it 1 

'1Ic1f ? 

16. WT •c  i 4 f4'lf .  

ilcigc? 

(a) 71 

(b) 141 

(c) 21i1 

(d) 30iT 

GS-B 6 

https://applink.adda247.com/d/XhqWf9lSap
https://www.adda247.com/


17. Who administers the oath of office and 
secrecy to the Governor of a State in 
India? 

(a) The President of India 

(b) The Vice President of India 

(c) The Chief Justice of the High Court 
of the State 

(d) The Speaker of the Legislative 
Assembly of the State 

18. Which Part of our Constitution 
envisages a three-tier system of 
Panchayati Raj? 

(a) Part IX 

(b) Part X 

(c) Part XI 

(d) Part XII 

19. Which of the following States has no 
oil refinery? 

(a) Gujarat 

(b) Kerala 

(c) Chhattisgarh 

(d) West Bengal 

20. Which of the following rivers does not 
flow in Australia? 

(a) Hunter River 

(b) Flinders River 

(c) Orange River 

(d) Gilbert River 

21. Which of the following States recorded 
decrease in its population in 2011 
Census? 

(a) Kerala 

(b) Sikkim 

(c) Nagaland 

(d) Manipur  

17. 1I 

41ii iq Iii %? 

(a) T1 1 i1 

(b) TT T 4(I4rd 

(c) -w-iK'v4 T -qiqffT 

(d)  

is. ii $TPT 
*ii.i1 n i 1*r fr urn? 

(a) lV1 IX 

(b) 111X 

(c) XI 

(d) 'WI XII 

(a) KJcf 

(b) cf 

(c) flwt 

(d) IfPI I'uf 

20. f1IId iT*1, 
ft? 

(a) 1kc 

(b) i-1 f 

(c) ft 

(d) fiElk 

21. Pi-iIiRcf 2011 
1'T . l w? 

(a) 'f 

(b) rr 

(c) iI1IKU. 

(d)  
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22. Which of the following is the most 
effective measure of population control 
according to Maithus? 

(a) War 

(b) Disaster 

(c) Birth control 

(d) Social evils 

23. Which of the following is not a biome? 

(a) Desert 

(b) Grassland 

(c) Ecosystem 

(d) Tundra 

24. Dudhwa National Park is situated in 
which of the following States? 

(a) Assam 

(b) Uttarakhand 

(c) Rajasthan 

(d) Uttar Pradesh 

25. According to the Fourth Round of 
National Family Health Survey, the 
current TFR (Total Fertility Rate—
children per woman) is 

(a)  22 

(b)  32 

(c)  42 

(d)  4.5 

22. TW 1IRsif 
qr-(uI i'ii1 ? 

(a)  

(b) 3TT 

(c) -Piii" 

(d) 1I11I11c4, 

23. 1.1rRf c -f-1l t flcW Tt ? 

(a) U+cii4 

(b)  

(c) TftffT 

(d) Vl 

24. %TT Hc1 i4 iRiRci i{ Pbk{ J4 

25. w,W '11.clR T1 T1U1 
31iR, c1c1H ' o 1qo 3o (i M1M 

(a)  22 

(b)  32 

(c)  +2 

(d)  4.5 
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26. Which of the following census years is 
known as the 'Year of Great Divide' in 
India? 

(a)  1911 

(b)  1921 

(c)  1951 

(d)  1991 

27. SRI method is related to 

(a) wheat 

(b) cotton 

(c) mustard 

(d) paddy 

28. Which of the following pairs is not 
correctly matched? 

Crop Insect-pest 

(a)  Groundnut : Pod borer 

(b)  Gram Pod borer 

(c)  Paddy : Banka 

(d)  Maize : Stem borer 

29. The rotation intensity of Maize-Potato-
Mung bean is 

(a)  100% 

(b)  200% 

(c)  250% 

(d)  300% 

30. Which of the following pairs is not 
correctly matched? 

Crop Variety 

(a)  Groundnut Kaushal 

(b)  Mustard : Vardan 

(c)  Linseed : Chamatkar 

(d)  Gram : Udai 

26. 1riRcf *1JIuHI 1 

(a)  1911 

(b)  1921 

(c)  1951 

(d)  1991 

27. 1jo  3TRo 3To 

(a)  

(b) c)tlt4 

(c) kik1V 

(d) 'e1W 

28. 

(a)  

r -1ldw? 

4 I'dl 

(b)  R1 : 

(c)R : 

(d) TT : 

29. 

(a)  100% 

(b)  200% 

(c)  250% 

(d)  300% 

30. 1r1d 

(a)  

11 11d Wf 

Nfl 

M'JIII 

Ic1 

(b)  *ik*i : c4I4 

(c)  3Tft : 1cR 

(d)  R1 : 4 
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PART-Il : AGRICULTURE I 1Tt-II: 

31. Central Soil and Water Conservation 
Research and Training Institute is 
situated at 

(a) Pune 

(b) Jodhpur 

(c) Dehra Dun 

(d) Patna 

32. Water-holding capacity of which soil is 
generally high? 

(a) Soil high in clay 

(b) Soil high in sand 

(c) Soil high in silt 

(d) Soil high in gravel 

33. How many soil orders are there? 

(a) 10 

(b) 11 

(c) 12 

(d) 13 

34. C/N ratio of soil microorganism is 

(a)  80 : 1 

(b)  20 : 1 

(c)  10:1 

(d)  8 : 1 

35. The results of soil testing for available 
nutrients are presented in how many 
quantitative levels? 

(a) 3 

(b) 4 

(c) 5 

(d) 6 

36. According to sulphur content, which 
order is correct? 

(a) Gypsum > Pyrite > Single 
superphosphate 

(b) Pyrite > Single 
superphosphate > Gypsum 

(c) Pyrite > Gypsum > Single 
superphosphate 

(d) Single superphosphate > Gypsum> 
Pyrite 

31. si4 T I1 1'1 3T1T 1 

*lF f.m % 

(a)  

(b)  

(c) lc1 

(d)  

32. 11 l TRU1 TTIT *in-iciii 

(a) rITI 

(b)  

(c) 1T31T 

(d) T1 

33.JT31TU? 

(a) 10 

(b) 11 

(c) 12 

(d) 13 

34. T t441 l IGi4/.lW (C/N) 31T1 

1ciI % 

(a) 80 : 1 

(b) 20 : 1 

(c) 10:1 

(d) 8 : 1 

35. 1c,1 qc1 '41k"iI4 

iiicici lcf Iqr itir 

(a) 3 

(b)4 

(c) 5 

(d) 6 

36. (k1'M.) ; —T 

I 

(a) jj14 > MitIc > 11'if 'ikc 

(b) iiti > >  

(c) MiU > Iii1 > 1Icf  

(d) I4'Ii 1* > > 
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37. 1IR 

(a)  

(b)  

(c)  

(d)  

37. Which of the following statements is 
true? 

(a) Manganese is micronutrient 

(b) Boron is not micronutrient 

(c) Zinc is not micronutrient 

(d) Calcium is micronutrient 

38. Which one of the following statements is 
most appropriate regarding soil as plant 
growth medium? 

(a) It provides nutrients to plants only 

(b) It provides water to plants only 

(c) It provides oxygen to plants only 

(d) It provides nutrients, water, oxygen 
and mechanical support to plants 

39. Which of the following statements is 
true? 

(a) Urea is applied by foliar application 

(b) Single superphosphate is applied 
by foliar application 

(c) Both (a) and (b) are true 

(d) Both (a) and (b) are not true 

40. Which of the following statements is 
true? 

(a) Analysis of organic matter, 
available potassium and available 
phosphorus is done in soil testing 

(b) pH and EC are not determined in 
soil testing 

(c) Both (a) and (b) are true 

(d) Both (a) and (b) are false 

41. Which of the following statements is 
true? 

(a) Basic slag is nitrogenous fertilizer 

(b) Basic slag is phosphatic fertilizer 

(c) Both (a) and (b) are true 

(d) Both (a) and (b) are not true  

38. Pi-iriRci iii i- n m 

T  

(a) iSI c1cf ct1( ict4 ctiI 

(b)  

(c) 4ir i c1cf 3iTl*i Mcl4 q,iT 

(d) 4 i, 3iTc*'fi.i 3 

qi1c4, u1TlR MI4 ct( 

rRf 

(a) 1ki T M1'F M 3j 4i (  fjj 
iI(i1 

(b) l'Ic-f 44T'  i wl'i 

ii ' 141 1R11 % 

(c) (a) (b) c.j1 W 

(d) (a) 3 (b) c14' i i 

40. 11Rc i1 

(a) 1T 11Jj 

rn 3T11 MW4{   i 

(b) 1 tJl 4to 190 (pH) 3t 

 (EC) T 1U1 T1 1ii 
'1Ic11 

(c) (a)3R(b)c1W 

(d) (a)3(b)lTf 

41. 1iRid c  

(a)  +c;l 1*1{  

(b)  

(c) (a) 3 (b) 'u1 1? 

(d)  
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42. Which of the following statements is 
true? 

(a) Blue-green algae is a biofertilizer 

(b) Blue-green algae is an organic 
manure 

(c) Both (a) and (b) are true 

(d) Both (a) and (b) are false 

43. Which of the following statements is 
true? 

(a) Alluvial soils are found in 
Bundelkhand 

(b) Alluvial soils are found in West UP 

(c) Alluvial soils are found in 
Bundelkhand and West UP 

(d) Both (a) and (b) are true 

44. Which of the following statements is 
true? 

(a) Gypsum is used for reclamation of 
acid soil 

(b) Lime is used for reclamation of acid 
soil 

(c) Both (a) and (b) are true 

(d) Both (a) and (b) are false 

45. Which of the following statements is 
true? 

(a) (NH4)2SO4 provides nitrogen to 
plants 

(b) (NH4)2 SO4 provides sulphur to 
plants 

(c) (NH4)2SO4  provides nitrogen and 
sulphur to plants 

(d) (NH4)2 SO4 provides calcium to 
plants 

46. Which of the following statements is 
true? 

(a) Potassium nitrate provides 
potassium to plants 

(b) Potassium nitrate provides 
potassium and nitrogen to plants 

(c) Potassium nitrate provides nitrogen 
to plants 

(d) Potassium nitrate provides sulphur 
to plants 

42. rHrRf 241 *T-T 

(a) fl —fkd TI 3i 

(b) -Ff c4Icf  ii % 

(c) (a) * (b) c1.i'T 

(d) (a)3(b) RT 

43. 1iRii ciiit -i 

(a) i11 .  

(b) J11 14i  qifI mfI 

(c) 3 '14i t 
1T irU 

(d)  

44.  

(a)  

(b) 1T1l 

qr 

(c) (a)(b)c).i1W 

(d) (a)3(b) Rf 

45. 1iR -ii 

(a) (NH4)2 SO4 'i*i4 ii % 

(b) (NH4)2SO4 

(c) (NH4)2 SO4 %1 i*i4 3 l fr*q. 

(d) (NH4)2 SO4 W1 Ri u 

46. 14if R1 -i w 

(a) iti4  tt 1I4'{ 11 % 

(b) Iii ii  4W1 i  

(c) 'IFi4 1Ic ' il % 

(d) '1Iw4 
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47. Which of the following statements is 
true? 

(a) Leaves of plants become yellow due 
to the deficiency of nitrogen 

(b) Leaves of plants become green due 
to the deficiency of nitrogen 

(c) Both (a) and (b) are true 

(d) Both (a) and (b) are false 

48. Which of the following statements is 
true? 

(a) Relative proportion of soil separates 
is soil structure 

(b) Arrangement of soil particles is soil 
structure 

(c) Both (a) and (b) are true 

(d) Both (a) and (b) are false 

49. Which of the following statements is 
true? 

(a) Khaira disease in rice is caused by 
zinc deficiency 

(b) Khaira disease in rice is caused by 
boron deficiency 

(c) Both (a) and (b) are true 

(d) Both (a) and (b) are false 

50. Destructive Insect-Pest Act was passed 
in India during the year 

(a) 1945 

(b) 1942 

(c) 1928 

(d) 1914 

51. 'Black tip of mango' is due to the 
presence of which of the following gases 
in nature? 

(a) Carbon monoxide 

(b) Sulphur dioxide 

(c) Ethylene 

(d) All of the above  

P -1rRf 1R wzi 

(a) i*H 1T tfifi 

nft 

(b)  

(c) (a) 3 (b) cI'i i 

(d) (a)3(b)4R 

48. rr ii1 i ii 

(a) ictui1 l 3T1 3IWR l kltcH1 

(b) 1 T '1 11 **i1 

(c) (a)3(b)). cq 

(d) (a) 3 (b)  if 

49. i1iftci ci.j1 

(a) R1l4tii% 

(b)  

(c) (a) (b) c)41 ic4 

(d) (a)3(b)c1W 

50.   4  
1ii iu u? 

(a) 1945 

(b) 1942 

(c) 1928 

(d) 1914 

51. 
iffIi  

(a) cl,I44 1I1Is 

(b) k1c'4k IiI.S 

(c)  

(d) 4I 
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52. National Centre for Integrated Pest 
Management is situated in 

(a) New Delhi 

(b) Bengaluru 

(c) Hyderabad 

(d) Chennai 

53. Who is the father of Modem Plant 
Pathology in India? 

(a) Y. L. Nene 

(b) K. C. Mehta 

(c) R. S. Singh 

(d) B. P. Pal 

54. Which of the following is not a sulphur 
fungicide? 

(a) Thiram 

(b) Captafol 

(c) Ziram 

(d) Zineb 

55. Streptocycline is a/an 

(a) fungicide 

(b) antibiotic 

(c) insecticide 

(d) nematicide 

56. Which one is not involved in biocontrol? 

(a) Trichoderma 

(b) Pseudomonas 

(c) Gliocladium 

(d) Fisarium 

57. Which of the following is not a stored-
grain pest? 

(a) Rhyzopertha dominica 

(b) Pectinophora gossypiella 

(c) Sitophilus oryzae 

(d) Sitotroga cerealella  

52. .jjf m 

(a) RU 

(b)  

(c) I41I 

(d)  

53. Tt ijfi t4 i-1ii *ict c- ? 

(a) io fo 

(b) oo1 

(c) 31Ro Io fT 

(d)  

54. itiRcf c4 .4- ji1'i Tt ? 

(a) fT 

(b) NTci 

(c)  

(d)  

55. 1Ifl.{ %  

(a) c4fr1Ifl 

(b) l'.iIIc4 (Pii41Qc) 

(c) 4iii11 

(d) r-Hr1 

56. 'c4  1wi IIc ii1i ri ln 1lc1l? 

57. iRiRd d 31R1I c  

(a) I ,1)12ff )rirct)f 

(b) 1~-i)ii 'l)'lfc'F! 

(c) 3i)<iI? 

(d) i))'!i cI 

(a)  

(b)  

(c)  

(d)  
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(d) 

58. Helmirtthosporium is a 

(a) fungal microorganism 

(b) bacterial microorganism 

(c) viral microorganism 

(d) None of the above 

59. Damaging stage of pink bollworm of 
cotton is 

(a) egg 

(b) larva 

(c) pupa 

(d) adult 

60. Red rot of sugarcane is caused due to 

(a) bacteria 

(b) fungi 

(c) nematodes 

(d) viruses 

61. Late blight of potato is caused due to 

(a) Alternaria solani 

(b) Phytophthora infestarts 

(c) Fusarium solani 

(d) All of the above 

62. 'Common scab' disease affects the crop 
of 

(a) potato 

(b) apple 

(c) mango 

(d) None of the above 

59. R4 cii41 T IIRc ii 

(a) 3f 

(b) 1TE 

(c) 1 

(d)  

61. 31r r°T% 

(a) 3icIii )c-1! 

(b) 'h1d)#2tIt1 ii 

(c) PgH 1)c1i 

(d) 4thf 

62. "41H-f ' pjj ffT t1TT 
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ft-I ft-fl 
A. kiTf 

B. cITf 

C. tftfff 

1. i'ff' 
2. 1i III 

3. To io 10 

4. 141K 

63. Which is monocot in nature? 

(a) Mango 

(b) Lime 

(c) Banana 

(d) Papaya 

64. Indian Sugar Institute is situated at 

(a) New Delhi 

(b) Lucknow 

(c) Kanpur 

(d) Meerut 

65. Which one of the following is not 
correctly matched? 

Crop Seed rate 
(kg! ha) 

(a) Composite maize 18-20 

(b) Dwarf pea 120-125 

(c) Moong bean 5-6 

(d) Mustard 5-6 

66. Match List-I with List-Il and select the 
correct answer using the codes given 
below the Lists 

63. Wf iI c14fl cl.{-T ? 

(a) 1T 

(b) f1 

(c) 11 

(d) ft1T 

64. 1Rf1T tc1 {1TT fm 

(a)  

(b)  

(c) cbI.1 

(d)  

65. 11iRc4cf c44-fl Zl1ii rt %? 

(joio /c) 

(a) B1 11 18-20 

(b) 41I 120-125 

(c)T 5-6 

(d) 4t 5-6 

66. -I *-II r1 11I 3 fj1 

List-I List-H 

A. Green Revolution 1. Dr. Verghese 

Kurien 

B. White Revolution 2. Durgesh Patel 

C. Yellow Revolution 3. Dr. M. S. 

Swaminathan 

D. Pink Revolution 4. Bindeshwar 

Prasad Singh 

Codes 

(a) A B C D 
3 2 4 1 

(b) A B C D 
2 3 1 4 

(c) A B C D 
3 1 4 2 

(d) A B C D 
1 2 3 4 

(a) A B C D 
3 2 4 1 

(b) A B C D 
2 3 1 4 

(c) A B C D 
3 1 4 2 

(d) A B C D 
1 2 3 4 

0 p 
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67. Who is called the father of Agronomy? 

(a) Jethuru Tull 

(b) Peterdecresenzj 

(c) Decandofi 

(d) Nicholas 

68. Who among the following is called the 
father of Agrometeoro10 in India? 

(a) Prof. L. A. Ramdas 

(b) Prof. Ram Krishnan 

(c) Dr. Shiv Das 

(d) Prof. G. D. Agarwal 

69. Which one of the following is not 
correctly matched? 

Crop Water requirement 
(cm/ha) 

(a) Gram 15-20 

(b) Bajra 45-60 

(c) Pigeon pea 50-60 

(d) Wheat 45-50 

70. Match List-I with List-Il and select the 
correct answer using the codes given 
below the Lists 

List-I List-H 
A. Tobacco 1. Linting 
B. Maize 2. Retting 
C. Sunhemp 3. Tasseling 
D. Cotton 4. Topping 

Codes 

(a) A B C D 
4 3 2 1 

(b) A B C D 
1 2 3 4 

(c) A B C D 
3 2 1 4 

(d) A B C D 
1 3 4 2  

67. 1i)4 i iiq r  cf 'tii ? 

(a)  

(b) h-ft 

(c) rscfrkf 

(d) iki 

68.  iit 4m-fi iq 

(a) 1 To 10 II*f 

(b) lhi (IHUt.{ 

(c) o 1c4 

(d) fto 

69.  

(o41o/) 
(a) R1 15-20 

(b) II1kI 45-60 

(c) 50-60 

(d) r( 45-50 

qfl—i 

A. 1. ti.ijq 
B. 1Ti 2. kIi 
C. *i. . 
D. eI{ 4. ifi 

(a) A B C D 
4 3 2 1 

(b) A B C D 
1 2 3 4 

(c) A B C D 
3 2 1 4 

(d) A B C D 
1 3 4 2 
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'4t1M1l1I: 

71. Which one of the following is the most 
critical stage for irrigation in wheat 

crop? 

(a) Tillering stage 

(b) Flowering stage 

(c) Milky stage 

(d) Crown root initiation stage 

72. Which one of the following is not 

correctly matched? 

Crop Weedicide 

(a) Mustard 2, 4-D sodium 
salt 

(b) Paddy Butachior 

(c) Wheat Suiphosulfuron 

(d) Bajra Atrazine 

73. Which of the following groups belongs to 
fibre crops? 

(a) Sunhemp, gram, linseed crops 

(b) Lentil, oat, patsan crops 

(c) Wheat, cotton, jute crops 

(d) Sunhemp, jute, cotton crops 

74. Match List-I with List-Il and select the 
correct answer using the codes given 
below the Lists 

List-I List-H 

A. Cereal crop 1. Lucerne 

B. Fodder crop 2. Pigeon pea 

C. Pulse crop 3. Wheat 

ID. Oilseed crop 4. Toria 

Codes 

(a) A B C D 
3 1 2 4 

(b) A B C ID 
1 2 3 4 

(c) A B C D 
4 3 2 1 

(d) A B C D 
2 3 4 1 

71. ii 
-ft t HI 

(a) j 

(b) R I1T 

(c) 'T 3l1 

(d) 3111 

72. 

(a) A B C D 
3 1 2 4 

(b) A B C ID 
1 2 3 4 

(c) A B C D 
4 3 2 1 

(d) A B C D 
2 3 4 1 
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75. Which one of the following is not 
correctly matched? 

Crop Variety 
(a) Pea Jai 

(b) Pigeon pea Bahar 

(c) Lentil Gaurav 

(d) Wheat Shatabdj 

76. Indian Grassland and Fodder Research 
Institute is situated at 

(a) Jhansi 

(b) Jabalpur 

(c) Shahjahanpur 

(d) New Delhi 

77• 
Which State of India has maximum area 
and production for soybean crop? 

(a) Rajasthan 

(b) Madhya Pradesh 

(c) Uttar Pradesh 

(d) Bihar 

78. Sowing of succeeding crop in same field 
before harvesting of preceding crop is 
called 

(a) intercropping 

(b) mixed cropping 

(c) relay cropping 

(d) None of the above 

79. Sprinkler method of irrigation is most 
suitable for 

(a) undulated soil 

(b) well-levelled soil 

(c) heavy soil 

(d) None of the above 

80. In which of the following irrigation 
methods, water-use efficiency is 
highest? 

(a) Drip irrigation 

(b) Sprinkler irrigation 

(c) Furrow irrigation 

(d) Basin irrigation  

Prpf -T iT wf 

MgII1 

(a)  

(b) 3T( 

(c) 1+j 

(d)  

76. 1R?ft lkI1II R ii fi 
(a)  

(b) M1i 

(c) iiii  I 

(d) Rii 

77. '11 { f 414IT L4f 

'qtr 

(a) TFT 

(b) Mi 

(c)  

(d) fftR 

c.j[ cb1l& 

(a) c4) f1 

(b) Ift 

(c) T1TRft 

(d)  

79. 1T (ftg) 1f ft % 

(a)  

(b)  

(c) jr 
(d)  

80. 1iRad 1r - 1R41 1i4;1 rr- 
ft 

(a) Z 1T 

(b) dI1T 

(c)  

(d) li9r 
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81. Central University which has no 

agriculture faculty is 

(a) Banaras Hindu University 

(b) Aligarh Muslim University 

(c) Central University, Allahabad 

(d) Visva Bharati University 

82. Browning of cauliflower is caused due to 

the deficiency of 

(a) zinc 

(b) manganese 

(c) iron 

(d) boron 

83. Monoecious and andromonoeciOuS sex 

forms are generally found in 

(a) cucumber 

(b) muskmelon 

(c) pumpkin 

(d) pointed gourd 

84. Seed field of muskmelon should be 

isolated from 

(a) long melon 

(b) snap melon 

(c) oriental pickling melon 

(d) All of the above 

85. Brinjal is a 

(a) short-day plant 

(b) long-day plant 

(c) day neutral plant 

(d) None of the above 

86. Necrosis in aonla fruit is due to the 

deficiency of 

(a) boron 

(b) zinc 

(c) copper 

(d) iron 

87. 'Golden delicious' is a variety of 

(a) almond 

(b) pear 

(c) apple 

(d) walnut  

81. f cdii1, fW k1ctl4 %, % 

(a) 'HRk1 

(b) 3TftT 1IH  

(c) tI  1lI11 

(d) TR 1cII1ftI't 

82. PI { TI (-W-1 1 R1 

(a) c44 

(b) 1I41 

(c) 1H1 

(d) 1T1R 

83. T-flflk{ 3 H-11i*1 ct4 

'l '1l 

(a)  

(b)  

(c)  

(d)  

84. 4li 3l 1i ti-U 

(a)  

(b) 4cI 

(c) 3ff1dl 11ii kH 

(d)  

85. 'I-{ 1 tTT % 

(a) 1Ilcfl (ii-) tM 

(b) (iT-r—) tIn 

(c) fW 1ii ( ) ' M 

(d)  

86. 3ITH cf 1FI1 Gfl4ff IIc fl 

(a) PR 

(b) *-c1t 

(c) ITI 

(d) ei'li 

87. "i)c-{ ifi4' 1il c1 3T1TfI ? 

(a) ll4 

(b) iii'-iicfl 

(c)  

(d)  
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88. Which one of the following is richer 
source of vitamin A? 

(a) Banana 

(b) Mango 

(c) Litchi 

(d) Orange 

89. 'Mallika' is a hybrid variety of 

(a) mango 

(b) pomegranate 

(c) apple 

(d) None of the above 

90. Pungency in chilli is due to 

(a) lycopene 

(b) anthocyanin 

(c) carotene 

(d) capsaicin 

91. 'Kinnow' is a hybrid variety of 

(a) sweet orange 

(b) mandarin orange 

(c) grape fruit 

(d) pummelo 

92. Pungency in onion is due to 

(a) allyl propyl disuiphide 

(b) diallyl disuiphide 

(c) isothiocyanate 

(d) capsaicin 

93. Place of origin of brinjal is 

(a) USA 

(b) UK 

(c) Australia 

(d) India  

94. Chromosome number of tomato is 

(a)  22 

(b)  18 

(c)  16 

(d)  24 

88. P1'iff iZTf{I A T  

(a) ii 

(b) W1 

(c)  

(d) 1J 

89. 

(a) 3TNI 

(b) 3TtR 

(c)  

(d)  

90. 1 r iui 

(a) iIqW)4 

(b) ljiq1k 

(d) r+ 

91.   ii1r 

(a) efl 3IftI (r) 

(b) T1I (iu) 

(c)  

(d)  

92. c1kLH T 3T1 chRul 

(a) ifii 3iWI .livt*I 

(b) 'st1ii Ijç'q  

(c) 3Ii1kit 

(d)  

93. i{ T c1If-TR 

(a) ooTo 

(b) oo 

(c) 3iT1ig 

(d)  

94. n % 

(a) 22 

(b) 18 

(c) 16 

(d) 24 
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95. The National Fruit of India is 

(a) jackfruit 

(b) mango 

(c) apple 

(d) aonla 

96. Ripening in banana is accompanied with 
sudden rise in 

(a) auxin 

(b) ethylene 

(c) GA 

(d) cytokinin 

97. Spoilage agents of fruits and their 
products are 

(a) moulds only 

(b) enzymes only 

(c) bacteria only 

(d) All of the above 

98. 'Yellow vein mosaic' is a serious disease 
of 

(a) okra 

(b) brinjal 

(c) pea 

(d) cabbage 

99. In which State production of banana is 
maximum? 

(a) Uttar Pradesh 

(b) Tamil Nadu 

(c) Punjab 

(d) Haryana 

100. Which one of the following vegetables is 
containing higher vitamin A? 

(a) Potato 

(b) Carrot 

(c) Cauliflower 

(d) Bitter gourd 

101. Which one of the following is a 
polyembryonic fruit? 

(a) Mango 

(b) Banana 

(c) Grape 

(d) Guava 

(a)  c1  

(b) c4i L,1I{ 

(c) h'if )1kii 

(d) PIfI 

98. 'i) 4r;' t i41 lMIO % 

(a)  

(b)  

(c)  

(d) 4!Wf 

99. f;4 I • € 1f c4R lcft %? 

(a) 3W 4f 

(b) c1c1iI 

(c) 'FII 

(d) 1iuii 

100. I.i1iRd • • 1kf 13I1 •{ lI 

IlcIIH A fciii %? 

(a) 31T9 

(b) 4 lI'K 

(c)  

(d) c4))'1t 

101. 

(a) 31TT 

(b) c11 

(c) W 

(d)  
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102. Viticulture is known for the production 
of 

(a) apple 

(b) grape 

(c) pineapple 

(d) wheat 

103. 'Lalit' is an important variety of 

(a) guava 

(b) mango 

(c) apple 

(d) None of the above 

104. 'Pusa Nanha' is a variety of 

(a) banana 

(b) guava 

(c) mango 

(d) papaya 

105. Whip tail', a physiological disorder in 
cauliflower, is due to the deficiency of 

(a) zinc 

(b) boron 

(c) copper 

(d) molybdenum 

106. Pineapple belongs to the family 

(a) Pinaceae 

(b) Annonaceae 

(c) Myrtaceae 

(d) Bromeliaceae 

107. Rhizome is a modified form of 

(a) leaf 

(b) stem 

(c) root 

(d) None of the above 

108. Which one of the following is the richest 
source of vitamin C? 

(a) Mango 

(b) Guava 

(c) Lime 

(d) Aonla  

102. '11~q,-' T 1Rii 

(a)  

(b) P1 &'4K-1 

(c) 3lRT{  

(d)  

103. 'TrT' t J 

(a)  

(b)  

(c)  

(d)  

104. 'TT RT' 1 wITff 

(a)  

(b)  

(c) 3 

(d) 4'Ut 

105. 1 1T14 Th ' Ict*. 1 jcg 

(a) I' 

(b) 'ki{ 

(c) cIII 

(d) {T11i4 

106. nm 1i (f) w-i1  %? 
(a) 'II%fl 

(b) 4l41 

(d) Ii1IL41 

107. kII4 ("1klIkd 1 

(a) ftT 

(b)  

(c)  

(d)  

108. • • I1ZIM C T 1c14 ilcf 
c.f %? 

(a) 3IT1 

(b) 3T1 

(c) ft 

(d) a4ii 
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D 
4 

D 
1 

D 
1 

D 
4 

109. Which of the following pairs is not 

correctly matched? 

(a) N. J. Vavilov—Centre of Origin 

(b) G. J. Mendel—Purity of Gametes 

(c) Hugo De Vries—Heterosis 

(d) 0. H. Frankel—Plant Genetic 
Resources 

110. Match List-I with List-Il and select the 
correct answer using the codes given 
below the Lists 

List-I List-fl 

(Largest Production) (State) 
A. Cotton 1. Uttar Pradesh 
B. Sugarcane 2. West Bengal 
C. Jute 3. Assam 
D. Tea 4. Gujarat 

Codes 

A B C D 
4 2 1 3 

A B C D 
2 3 1 4 

A B C D 
4 1 2 3 

A B C D 
1 2 3 4 

111. Match List-I with List-Il and select the 
correct answer using the codes given 
below the Lists 

List-I List-fl 

(Research Institute) (Location) 

A. IIPR 1. Hyderabad 

B. I1VR 2. Kanpur 

C. 11W and BR 3. Varanasi 

D. IIRR 4. Karnal 

Codes 

(a) A B C D 
2 3 1 1. 

(b) A B C D 
2 3 4 1 

(c) A B C D 
3 4 2 1 

(d) A B C D 
1 2 3 4 

109. i-1rf(f  
wt ? 

(a) 10 o 

(b)  

(c) —k1 

(d) 3to 10 IfI4 T%TR 

110. ft—i qtft-II 11d 

ft-I 

( 3f iui) (rRT) 

A. ci44 1. 3R lk1 

B. TTT 2. ticf 

c. 3.3P1 

D. 4. 

(a) A B C D 
4 2 1 3 

(b) AB C D 
2 3 1 4 

(c) A B C D 
4 1 2 3 

(d) A B C D 
1 2 3 4 

111. -I -II RIct 41& 

(ft nr) 
A. 3110 :3110 4to 3o 
B. 3To 3To o 3IRo 

C. o 3110 .srto 

4to 3TRo 

D. 3o 3flo 3Ro 3TR0 

(a) A B C 
2 3 1 

(b) A B C 
2 3 4 

(c) A B C 
3 4 2 

(d) A B C 
1 2 3 
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112. 'Rf 1kf iii' i 4 , r-w 

1. -TR 'si1 wii11 
c4,RUI I 

2. cIuiI 

(a) ci'f 1 

(b) c4f 2 

(c)  

(d)  

113. 'l1~' I ifiRf I4 

(a) t(U 

(b) (3 

(c)  

(d)  

114. 3To •flo Ro 3Ro, R 1t m 1b{ 
'iW 4lf f'r4' 1Tir ? 

(a) 1961 

(b) 1963 

(c) 1965 

(d) 1968 

116. rll-1r1Rd tl-11 lcfrflcb T dc'4j 

(a) Bt cI,LI{ 

(b) 4jc4j 

(c) c(  

(d) •4rP i4 

112. With reference to 'Green Revolution in 
India', which of the following in relation 
to its source is correct? 

1. Due to use of dwarf varieties of 
wheat and paddy 

2. Due to good crop management 

Select the correct answer from the codes 
given below. 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

113. 'Triticale' is developed through 
hybridization between which two of the 
following? 

(a) Wheat and rye 

(b) Wheat and barley 

(c) Barley and rye 

(d) Wheat and oat 

114. National Seeds Corporation was 
established in which year by ICAR, New 
Delhi? 

(a)  1961 

(b)  1963 

(c)  1965 

(d)  1968 

115. The original seed of a variety produced 
by plant breeder is called 

(a) breeder seed 

(b) certified seed 

(c) nucleus seed 

(d) foundation seed 

116. Which of the following is a product from 
biotechnology? 

(a) Bt cotton 

(b) Golden rice 

(c) Flvr Savr tomato 

(d) All of the above 
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117. Hybrid rice cultivation is most popular 
in which of the following countries? 

(a) Japan 

(b) India 

(c) China 

(d) Korea 

118. Paddy varieties cultivated in India are 
related to which of the following groups? 

(a) Indica 

(b) Japonica 

(c) Javanica 

(d) Asiatica 

119. Seed viability is being tested by 

(a) tetrazolium test 

(b) growout test 

(c) first-count test 

(d) None of the above 

120. The source of disease-resistance genes 
for improvement of crops is 

(a) germplasm collection 

(b) wild variety 

(c) mutation 

(d) All of the above 

121. ICRISAT is located in which country? 

(a) Australia 

(b) Mexico 

(c) Philippines 

(d) India 

122. Which one of the following is a C4  plant? 

(a) Wheat 

(b) Paddy 

(c) Soybean 

(d) Maize 

123. 'Norin-lO', a dwarfing gene, is related to 
which of the following crops? 

(a) Paddy 

(b) Maize 

(c) Wheat 

(d) None of the above  

117. k lH11Rd 1{ T 

ii ilI ? 

(a) 1iL1if 

(b) IRT 

(c)  

(d) ct1iii 

118. %TR?T I1 'iiicfl TI 

1RiRqcf 1k{ *1 kilGIPRf ? 

(a) PfI 

(b) 1i 

(c) 1tr 

(d) &f1tP.ebF 

119. 1W flcwi • T 1 t1UT 14I iti1 

(a) I'?iR114 qtii 

(b) -31T3Z1 

(c) TT 

(d) ctiT 

120.  rTiT fl.i1i  

(a) °4  

(b) IIc{1M'1II?t 

(c) kc44 

(d) tft 

121. ICRISAT (k) 1  i f.m ? 

(a) 3ITk111I 

(b) 1I 

(c) r-{ 

(d) R1 

122. 1i1cf {-1 T  C4  4%11 %? 

(a) t( 

(b) t1 

(c) *iki41f 

(d) 1T 

123. '.'ffk.f-1O', 1 41 T 511, 1èRcf 

(a) .1T1 

(b) 1T 

(d) 
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124. Which one is the native place of 
Mehsana breed? 

(a) England 

(b) China 

(c) Africa 

(d) India 

125. Method of mating of unrelated male and 
female animals is called 

(a) close breeding 

(b) inbreeding 

(c) outbreeding 

(d) cross-breeding 

126. Which one of the following breeds of 
goats has resemblance to Jamunapari 
goat? 

(a) Mehsana 

(b) Beetal 

(c) Barbari 

(d) Ganjam 

127. Mark the temperature of the cow body 
suffering from milk fever. 

(a) 30 °C 

(b) 42 °C 

(c) 38 °C 

(d) 45 °C 

128. Which of the following medicines is 
suitable for mastitis disease? 

(a) Novalgin 

(b) Esgipyrin 

(c) Replanta 

(d) Pendistrin 

129. Mark the quantity of concentrates 
needed to produce 10 litres milk per day 
by a buffalo. 

(a) 4kg 

(b) 5 kg 

(c) 6kg 

(d) 7 kg  

124. 4TftCf 

(a)  

(b) :fl{ 

(d) TT 

125. 3W11T R Lc4 III  

(a)  

(b) 3Tj{ 

(c) f:ii-i 

(d) cu[ 

126. 1R1ftcf {- VrT1 

wn.ir 

(a) TTJ 

(b) 4 

(d) t1I4 

127. -T-' 'ftft?f niq i  
Th 

(a) 30 °C 

(b) 42 °C 

(c) 38 °C 

(d) 45 °C 

128. Ptl111ftcf c4jZj c11 11 '1 

(a) -iTfw 

(b) 4F4 

Th 

(d) 

129. 31lr 10 f1z 1i i.ii 
4fl4f 3 TI 

(a) 4 ii-{ 

(b) 5 fcl4 

(c) 6 Ii)iw1 

(d) 7 1111l14 
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130. Which one of the following breeds of 
cows is a dual purpose breed? 

(a) Sahiwal 

(b) Sindhi 

(c) Deoni 

(d) Hariana 

131. Pashmina is obtained from which 
animal? 

(a) Sheep 

(b) Goat 

(c) Buffalo 

(d) Yak 

132. Which breed of the buffalo has well-
developed dewlap and teats? 

(a) Jafrabadi 

(b) Nilli 

(c) Murrah 

(d) Bhadwari 

133. Montgomri District is the native place of 
which breed of cow? 

(a) Sindhi cow 

(b) Sahiwal cow 

(c) Malvi cow 

(d) Rathi cow 

134. Hinni is a cross of which animals? 

(a) Male buffalow x  Cow 

(b) Stallion x  Jenet 

(c) Jack x  Mare 

(d) Yak x  Cow 

135. Which of the following is not a 
secondary element? 

(a) Magnesium 

(b) Calcium 

(c) Manganese 

(d) Sulphur 

130. cHri1d ifl '? 

(a) k1II4If 

(b) ThfI 

(c) 44 

(d) 1tuii 

131. 'i'11i  RjTR ir? 

(a)  

(b) tU 

(c)  

(d) Ict 

132. I 14 R i1  R 

(a) iI4I4Ifl 

(b) 4kfl 

(c)  

(d) TI 

133.  ri Ik{ M'1III 111ZI 'F1 T--l1f 

(a) ftFdl 1T4 

(b)  

(c) iiicfl1T 

(d) TI1T 

134. 1I'r 1kiUl 

(a) flxTfl 

(b) xif 

(c)  

(d) Nx 71Tl 

135. 1iRd 1Icfli' wt %? 

(a) 11I144 

(b) 1ii4 

(c) I-fl'3i 

(d)  
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136. Match List-I with List-Il and select the 
correct answer using the codes given 
below the Lists 

List-I List-H 
A. Rhizobjum 1. Pea 

jeponicum 
B. Rhizobjum meliloti 2. Soybean 
C. Rhizobjum trzfolai 3. Berseem 
D. Rhizobjum 4. Lucerne 

leguminosarum 

Codes 

(a) A B C D 
2 3 4 1 

(b) A B C D 
2 4 3 1 

(c) A B C D 
1 2 3 4 

(d) A B C D 
3 2 1 4 

137. Which is diammonium phosphate 
fertilizer according to plant available 
percent nitrogen and phosphorus 
content? 

Nitrogen (%) Phosphorus (%) 
(a) 20 20 

(b) 18 46 

(c) 26 58 

(d) 12 32 

138. Soil-microorganism not responsible for 
denitrj.fication is 

(a) nitrobactor species 

(b) bacillus species 

(c) pseudomonas species 

(d) paracoccus species 

139. In comparison to atmospheric air, the 
concentration of which gas is much 
higher in soil air? 

(a) Nitrogen 

(b) Oxygen 

(c) Carbon dioxide 

(d) None of the above  

l36.ft-III rjgfl 

A. <j)/qij j)/c 1. 

B. 2. nifl 
C. <jlfqq 1)cU 3. 1tAW 
D. ((1)qq  .  

(a) A B C D 

2 3 4 1 

(b) A B C D 
2 4 3 1 

(c) A B C D 
1 2 3 4 

(d) A B C D 
3 2 1 4 

137. 'if 1i rq iPi.it i*w 
rifl 'T cj q ? 

*t (%) 4Ikq( (%) 
(a) 20 20 

(b) 18 46 

(c) 26 58 

(d) 12 32 
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140. Which one is not a soil-forming factor? 

(a) Oxidation 

(b) Carbonation 

(c) H u mification 

(d) Solution 

141. Oilseed cake containing highest 
percentage of nitrogen nutrient is 

(a) sesamum 

(b) linseed 

(c) groundnut 

(d) coconut 

142. Deficiency symptoms of which nutrient 

do not appear on older leaves of plants? 

(a) Nitrogen 

(b) Phosphorus 

(c) Potash 

(d) Sulphur 

143. Which of the following statements is 
true? 

(a) Factor of soil formation is climate 

(b) Factor of soil formation is parent 
material 

(c) Factor of soil formation is biosphere 

(d) Factors of soil formation are 
climate, parent material, biosphere, 
topography and age of land 

144. According to average composition of 
humus, nutrients occur in the order 

(a) Nitrogen > Oxygen > Carbon 

(b) Carbon > Oxygen > Nitrogen 

(c) Oxygen > Nitrogen > Carbon 

(d) Nitrogen > Carbon > Oxygen 

145. Which of the following statements is 
most appropriate? 

(a) Soil erosion is affected by rainfall 

(b) Soil erosion is affected by soil 
texture 

(c) Soil erosion is affected by rainfall 
and soil texture 

(d) Soil erosion is not affected by 
rainfall and soil texture 

142. f 

(a)  

(b)  

(d) 

ii wui 

4**{ 

i'41M 

143. T1 1-1 1c4 

(a)  1 fI1U l lR % 

(b)  11DTl t*%tTi 

(c)  

(d)  I jI(U % 

{l4i, ifi (wig) 

144. 1 3ThT9 WI6-{ cd4 

(a)  -iik-{ > 311ct41'*1 > 

(b)  T*{ > TctTh*I > 

(c)  3iTh'*1 > .ii* > 

(d)  .fl)'*{ > T > 31i44k. 

145. 

(a)  

iRiRcf )-{-1 H1fT th 

ci 

(b)  IJ1 'f c*UIIIk 

(c)  £RTT clT 341 cbUfl 3I1l4l 

lciI % 

(d)  1TT 31P( Jf 

1ciI% 
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List-I 
A. Soil Reaction 
B. Leaching 

Requirement 
C. SAR Value 
D.Na 

Codes 

List-H 
1. Saline Soil 
2. Irrigation Water 

Quality 
3. Beneficial Element 
4.pH 

(a) A B C D 

4 1 2 3 

(b) A 
1 

(c) A 
2 

(d) A 
3 

B C D 
2 3 4 

B C D 
1 4 3 

B C D 
2 1 4 

146. Which of the following statements is 
true? 

(a) Exchangeable sodium percentage of 
alkali soil is more than 15 

(b) Exchangeable sodium percentage of 
alkali soil is less than 15 

(c) Both (a) and (b) are true 
(d) Both (a) and (b) are not true 

147. The biofertilizer which helps in 
phosphorus nutrition to plants is 

(a) azotobacter 

(b) vesicular arbuscular mycorrhjzae 

(c) azospirillum 

(d) rhizobiurn 

148. Which is not a green manure crop? 

(a) Dhaincha 

(b) Sunhemp 

(c) Lobia 

(d) Arhar 

149. Which one is a miss match of the 
following? 

(a) Aridisol—Desert soil 

(b) Ultisol—Laterite soil 

(c) Oxisol—Bog soil 

(d) Andisol—Volcanic soil 

150. Match List-I with List-lI and select the 
correct answer using the codes given 
below the Lists 

146. - T%? 
(a)  

(b) 81TT T T 1l4 ffN 15 MPtI1 
1r .  

(c) (a) .31t (b) c1 

(d) (a) 3 (b)  R1 

147. 5j i 

sil 

(a) ci 

(b) 3I1i iAiir 

(c) IRj4 

(d) Iqi4 

148. i 1cfRt%? 

(a) 9T 

(b) ki'i 

(d) 3 

149. rHriftif ci1i-ii rf %? 

(a) i 

(b) —tr i 

(c) fl—T l 

(d) i—lH1J 

150. 1-I 1-JI 3 

'WIt-I 
A. T 1fn 1. 1qufl4 1 

B. 2. 

C. io to 3o jj 3. ij 9 
D. r5 (Na) 4. fio io 

A B C 
4 1 2 

A B C 
1 2 3 

A B C 
2 1 4 

A B C 
3 2 1 
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